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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 Name the technique used for detection of DNA.

		  DNA H$s nhMmZ Ho$ {bE H$m¡Zgr VH$ZrH$ H$m‘ ‘| br OmVr h¡?
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	 (ii)	 What are the nucleotide sequences on DNA that have 

information encoding a sequence of amino acid known 

as?

		  {H$gr DNA na Ý¶y³br¶moQ>mBS> AZwH«$‘ Omo dmñVd ‘| A‘rZm| Aåbmo 
H$mo ~ZmZo Ho$ {bE gyMZmE± aIVr h¡, ³¶m H$hbmVr h¡?

	 (iii)	 What are Ionophores?

		  AmBZmo’$moa ³¶m h¡?

	 (iv)	 Write one function of Peroxisomes.

		  naAmo³grgmo‘ H$m EH$ AZwà¶moJ {b{IE&

	 (v)	 Which technique is used for detection of tertiary structure 

of proteins?

		  àmoQ>rZ Ho$ V¥Vr¶H$ g§aMZm H$mo nhMmZZo Ho$ {bE H$m¡Zgr VH$ZrH$ 
à¶moJ ‘| bm¶r OmVr h¡?

	 (vi)	 How does enzyme increases the rate of reaction?

		  E§OmB‘ A{^{H«$¶mAm| H$s Xa {H$g àH$ma ~‹T>mVo h¡?

	 (vii)	Which cellular organelle is responsible for initiation of the 

intrinsic path way of apoptosis?

		  H$m¡Zgr H$mo{eH$m A§JH$ AnmonQ>mo{gg Ho$ Am§V[aH$ ‘mJ© H$s ewê$AmV 
‘| em{‘b hmoVr h¡?

	 (viii)	What is RNase P?

		  RNase P ³¶m h¡?
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	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 

exceed 200 words. Each question carries 8 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 What is endosymbiotic theory for the origin of mitochondria?

	 ‘mBQ>moH$mpÝS´>¶m Ho$ g§~§Y ‘§o "E§S>mo{g‘~m¶m|{Q>H$' {gÕmÝV ³¶m h¡? CgH$s 
CËn{Îm Ho$ g§X^© ‘| CËVa Xr{OE&

3)	 Write short note on / bKw ZmoQ> {b{IE&
	 (i)	 Cytometry / gmBQ>mo{‘Q´>r
	 (ii)	 Chromatography / dU©H$bo{IH$s

4)	 Draw a well labelled diagram of fluid mosaic model of plasma 

membrane.

	 ßbmO‘m {Pëbr Ho$ Vab ‘moOoH$ ‘m°S>b H$m EH$ gwZm‘m§{H$V {MÌ ~ZmBE&

5)	 GISH and FISH are two techniques for measuring expression 

of genes. Explain.

	 OrZ Ho$ àXe©Z H$mo ‘mnZo H$s Xmo VH$ZrH$m| GISH VWm FISH H$mo g‘PmBE&

6)	 Explain / g‘PmBE&
	 (i)	 Protooncogenes / àmoQ>moAm°ZH$moOrZ
	 (ii)	 Types of cancer / H¢$ga Ho$ àH$ma
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7)	 ‘‘Cell signalling is a way of cell-cell communication’’. Throw 
light on this statement.

	 ""H$mo{eH$m g§Ho$VZ, H$mo{eH$m - H$mo{eH$m g§àofU H$s EH$ VH$ZrH$ h¡&'' 
Bg H$WZ na àH$me S>m{bE&

8)	 Describe the vesicular transportation by Golgi complex.
	 Jm°bOr H$m¶ Ûmam dogrHy$ba n[adhZ H$mo g‘PmBE&

9)	 Explain /	g‘PmBE&
	 (i)	 Electron Microscopy / BëHo$Q´>moZ gyú‘XeuVm
	 (ii)	 Phase Contrast Microscopy / ’o$O H$mÝQ´>mñQ> gyú‘XeuVm

	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 How does gene regulation in Eukaryotes differ from the 
prokaryotes? Explain in detail.

	 ¶yHo$[a¶moQ> ‘| OrZ {d{Z¶‘ àmoHo$[a¶moQ> go {H$g àH$ma {^ÝZ h¡? {dñVma go 
g‘PmBE&

11)	 Write an elaborative note on the various stages of meiosis. 
Also enumerate the significance of meiosis.

	 AY©gyÌr {d^mOZ H$s {d{^ÝZ àmdñWmAm| H$m {dñVmanyd©H$ dU©Z H$s{OE& 
AY©gyÌr {d^mOZ H$s Cn¶mo{JVm H$s ^r {ddoMZm H$s{OE& 
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12)	 (i)	� Amount of DNA in the haploid cell of an organism is not 

related to its evolutionary complex city. How? 

		�  {H$gr AJw{UV H$mo{eH$m ‘| nmB© OmZo dmbr DNA H$s ‘mÌm CgHo$ 
CX²{dH$mgr¶ O{Q>bVm H$mo ÚmoVH$ Zhr h¡& H¡$go?

	 (ii)	 What are Euchromatin and Heterochromatin?

		  ¶yH«$mo‘o{Q>Z VWm {hQ>oamoH«$mo‘o{Q>Z ³¶m h¡?

13)	 The design and construction of Bioreactors must be such 

that sterile conditions are maintained. Explain how this is 

accomplished?

	 ~m¶mo[aEH$Q>a H$s g§aMZm VWm ~ZmdQ> Eogr hmoZr Mm{hE {H$ amoJmUwa{hV 
n[apñW{V¶m± ~Zr aho& g‘PmBE Ho$ ¶h {H$g àH$ma {Zînm{XV hmoVm h¡?


